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Get out your coin toss and dice activity worksheet.

What were vour results for:
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The more times you thip or roll, the closer you
are suppose to be to the true probability.

Coin: 1/2 =50%  Dice: 1/6 = 17%
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Ex 1a) Find the probability of getting hit by
lightning:

1. guess 2. simulate 3. calculate
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IEx 1d) What is the probability of a couple having 3
kids with 2 boys and 1 girl(order doesn't matter)?
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Complementary Events: denoted as A, which the
event doesn't occur.

A+A=1

Ex2a) GMC tested new model cars. 50 drivers have
been recruited, of which 20 are men.

P(not a man) or P(man) = P(women)

Apr 1-3:15 PM Apr 1-3:16 PM

Apr 1-3:20 PM



